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Instructions for Candidates :
st & R Fdw
(i) Write your Roll No. on the top immediately
- on receipt of this question paper.
T UT-95 B U BN 9X g SN 9X Ao
Jd HdaX 7 |
(ii)) Answer may be written either in English

> or in Hindi; but the same medium should
be used throughout the paper.
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(iii)Use of simple calculator is allowed.

AT BB BTN F qh ¥
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(iv) Show all workings clearly as part of the

)

(c)

answer.
Tk AT B I ATHE T FAT@ |

Answer all questions. Including question
no 1 is compulsory.

Mﬂwﬁﬂw&mﬂa&?ﬂﬁﬂﬁgH@_ﬂm&
_

Explain the ‘Matching Principle’. When the

revenue is said to be recognised ? 4

B (Matching) Resr=r 1 ol i)

hel ST AT 9T BT B ?

What is meant by International Financial
Reporting Standards (IFRSs) ? Explain the
need for IFRSs. / 5
RIS g g=es @11 (IFRSs) § =
AR B ? IFRSs & STEeTsal & aoi
m,m:ﬂn |

Calculate the value of closing inventory, Cost

Of Goods Sold and Gross Profit according to
FIFO and Weighted Average Method on

March 31,2017 6

@ & A qeg H o HRT, =
%ﬂ%ﬁﬁ%ﬂﬁomﬂoﬁo%o
gwfl O HIRE AR 31 A€, 2017 H ARG
Mg g Ru g ¥

March
a1
01 Stock in hand

) B H owhy

07 Purchases
LCRIE
10 Sold
=T
12 Sold
EEl
15 Purchased
gar
25 Sold
Dz
30 Purchase returns
e aroEd
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500 units @ < 10 per unit

500 FhrEal @ 10 3 Ofr s
7,500 units @ T 12 per unit
7,500 A @ 12% o g8
6,000 units @ 15 per unit
6,000 STl @ 15% AR b1
1,200 units @ ¥ 18 per unit
1,200 mﬂm& @ 18 T uiy s
5,000 units @ 313 bo.w units
5,000 sFHEaT @ 13 3 ufy g
3,500 units @ % 23 per unit
3,500 T @23 % ufq 313
500 units (out of goods
purchased on Z_mHoU. 135)

500 AT (15 A/ & Tie ™
7| 7 A@) :

St PO
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2. You are required to prepare Trading and Profit

Rates and Taxes

and Loss Account for the year ending March T /A AR &YX

31, 2017 and Balance Sheet on that date from Drawings

the mozos.wbm. Trial Balance after making ﬁra_ Wi e

necessary adjustments : 10

31 W<, 2017 9 @ 5w 9 B R ey | Salaries

e AR I Ry | oger-a WS e ™ aaT

JAIe q ST Insurance

Particulars Debit .ﬁ n.u».anmn (%) =T 5
fraprer . 3Me e Printing and Stationary
Stock {as ofi April 1,2016) --5,00,000 porg AR Rl
w=py (1 o, 2016) Advertisement
Purchases and Returns  30,00,000 50,000 feretra
i ot A o
Sales wbm Sales Returns 60,000 42.00,0C v »A
st A foeft 1 aTRA _ , Furniture
Cash in hand ;w,mo,ooo .......... I S
B H Aehal i
Discounts

m.umﬁﬁmp ......... 10,00,000 L
mo.% N

1201

5,00,000 @ .oeeeeeee
3,00,000

..........

40,000 60,000
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O . .
arriage Inward : 35,000 (iii) Bad Debts worth I 40,000 to be written off.
SO T g2 A 40,000 % g fRaa 2
e 65,000 (iv) Insurance prepaid is < 25,000. |
e T geex &M § 25,000 %
Sundry Debtors/ 6,00,000 8.00.000 (v) Provision for Bad debts is to be created at
Creditors v . 5% of Sundry Debtors.
R 39, | T &2 HH %1 T R et 8nn 5%
SRS : | ; FHLET B .
Total : _ ~ (vi) Depreciate Furniture by 10% p.a. and Motor
o | - 61,10,000  61,10,000 Car by 20% p.a. o
Ko :A | i RefifRrdre (framee) witex @ Sﬁum_ﬂ%
iona din
nformation : AT B U 20% FEs HET B | _
< ( OR
(i) Closing
) - sing Stock as on 31% March 2017 smd , rerar
»45,000. _ ) ‘ :
) You are presented with the following Receipts

and Hu.m,%bpmam Account for the year ending 31+

31 __ .
qre, 2017 H~T =T 1,45,000% o,

(ii) Salaries o:ﬂmﬁmuﬁbm amounted to n__ﬂ_ il
31 R, 2016 af B ot i .

< 15,000.
SHET A 87 15,000 7 | . g grar Frefeiad Rar @ 3
j PO,

6 7.

December 2016 :
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Woco.munm 4 Payments 4
griftaar IATT
Balance b/d 20,000  Salaries 3,00,000
Y b/d Rk
Subscriptions Stationery 80,000
e R
2017 16,000 Telephone 12,000
SR
- 2016 4,22,000 Rent 15,000
[ExeE
2015 8,000 4,46,000 Upkeepof 15,000
Lawn
ATl
RSCRECIC]
Receipts from 50,000 Furniture 60,000
sports meet | EHAIET
e Wt A
gt
Interest on . Balance ¢/d mmro.oo
investments 20,000
T o) AT c/d
S
5,36,000 5,36,000

8
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‘The following additional information is
available :
o STRiE e e B
G (a) There are 450 ,Bmavonw. The annual
_ subscription per member is T 1,000. At the
beginning of 2016, ¥ 9,000 was in arrear for
2015. ) |
qeed 9 e 450 ¥ aifte =ar i aE
1,000 T ferm STRT ®1 2016 & WA F 2015
& frq =@erEr 9,000 T |
3 Stock of stationary (opening) was ¥ 3,500 and
closing was ¥ 5,000.
Dol 1 i (IRENH) 3,500 T AT AR
5,000 T AT |
(c) At the end of 2016, rent for 3 months was
prepaid. (Monthly rent 31,000)
e 2016 & of@ ® 1,000 ¥ gdew AT |
GIEsE? fprr % 1,000 T )
9 PO,
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(d) mwﬁobmom as on as on
were outstanding 31.12.2015 1.12.2016
=g qeh 9
Salaries of staff 3,000 6,000
% H Ja9
Telephone bills 1,000 1,800
Upkeep oflawn 600 , 2,800

- (e) The _uc:aubmm stood in the Uoowm. at

% 20, ;00,000 and it is. required to write off

~ depreciation at 5% p.a. ; ,
- AT ,%m&%mﬂ@ﬂqgmoboboo ¥ g
T 5% foraree oy af gy 2
(f) Investments at 31.12.2016 were ¥ 4,00,000
carrying interest @ 6% p.a..
31.12.2016 =1 A& & 4,00,000 7 a3 3
I AT 6% e o

10
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You are required to prepare Income and
Expenditure Account for the year ending 31st
December, 2016 and a Balance Sheet on that

date. 10

_@ﬁq@aﬁwﬁw@oﬁﬂﬂﬂgﬂ@_ﬁ

R, moym%%%%ﬂﬁ@mﬂ;ﬁ%
T |

Geeta purchased 5 machines from X Ltd. On
'1-1-2015 on hire purchase basis. Payment is

_ to be made ¥ 2,00,000 down and 4 equal half-

yearly instalments of ¥ 2,00,000 each together
with interest @10% p.a.-She paid two
instalments on time but could not pay the
third instalment. The vendor took back
possession of two machines on her failure to
pay the instalment on time adjusting these
against the amount due. It was agreed to value
the two trucks at 30% less than cost. Geeta
chargses depreciation @ 20% p.a. on’
diminishing balance method and closes her
books on 31%t December. Show the amount of
interest included in each instalment and
prepare Machine account and Hire Vendor
account in Geeta’s books up to year ending
Uoomgdow ol 2016. ; 10

e PTO
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M I 5 7w Rro & 1-1-2015 &y R
B9 TSl X @ e 2,00,000 T AenRT
AR A9 4 o affer ™ 2,00,000 T =7 2T
SR 10% % a¢ 0 or 1 I @ A R & o
T 3T A oTARe @ far I & 99hd amw &
%_ﬁ%ﬁ%ﬁmﬁw@ﬁiwwﬁﬂm
30% 7 AT ¥ e s fer T frEmEe 20%
g R ¥ ged gW oMUR X a9 fear o

a¥, 31 R & o< ST ¥iowX o e §

e =areT &t WA Ramsd ok asie o=
T A fbar @i @ fer B ogeE §
31 RE=R, 2016 & a¥ $ oig g% =Y |

OR
- ogqr

>.B:” sells goods on hire purchase at cost + 50%.
You are given the following information :
a%dwgﬂmaﬁ@w.,+mo§mwﬁ@£ﬂ
e g R gaere Pt

12

~ 1201

Stock with customers on 1-1-20 16 T 24,000
1-1-2016 = IEH & T ETH

.% y Instalments due, customers

| ¥ 3,000

paying on 1-1-2016
1-1-2016 seprar fHed ST ATEH J ora feREm

Transactions during the year :

af & e AREnt -
(i) Goods sold on Hire Purchase ¥ 1,80,000
RperaT 9 @ QWIS ST
- (ii) Cash collected ¥ 1,90,000
) ) g |
' (iii) Instalments that fell due % 2,00,000
during the year |
af & S feeat ¥ FfEe
a0 PTO.
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One customer to whom one TV was sold for
< 6,000 to be paid in 10 equal instalments of
% 600 each, paid 3 instalments on time but could
not pay thereafter. On December 15, 2016 after
the 6™ instalment was due and defaulted, the
TV was repossessed and valued at ¥ 3,500.
Calculate the profit of the Hire Vendor. Show
your workings clearly. 10

U AEF S o do A 6,000 T F =1 oy
m@HomdmAw%%mmoowwﬂﬁﬂdaﬁw
w@»ﬂ%ﬂﬁﬂ@ﬂﬂi@.ﬁmwg_
15 wdﬂdwoamwmﬁm@.ﬁmﬁ%ww
ﬁﬁa@gﬁ%ﬂdﬁg_%o%o%ﬂw
HET T 3,500 T a7 w7

fepRrar ST & @ 5 Torr ﬂ_oﬂﬂwﬂ&
B ATH-FART AT HY |

Gupta & Sons, Delhi has a branch at
Bulandshahar. Goods are invoiced at cost plus
25% which is the selling price of the branch.
From the following, prepare Branch Stock
Account, Branch Debtors Account, Branch
Cash Account and Branch Profit and Loss

Account for the year ending 31% December,
2016.

14

Balances ason
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geesT $ T S GE, Redlt § o are =
S Prefafgd § omET Wi W, T SRR
@, AT TS @rer iR e are-E Er
31 R, 2016 & T

January 1, 2016

1 S¥ed, 2016 &1 AT
mwmbnr Stock at HS.A_\owoo Price
QIRET T . &loeh Jed 9T
Branch Debtors

e ST

Branch Cash

QT B

Transactions during 2016

2016 & AT gT A :

25,000
85,000

5,000

: ,000
Goods invoiced to Branch 3.35

QIRET T /S T A

15 , 11.0.
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o Rt B A A et o iR AR &
| AT U Gy N TG ST ST T S |
31 Re=r, 2016 = AT FT A F SR oA
H A= (Sfe) d@geT 2 31,450 ol & smEn
% g (3RE) FgaT % 51,000 o7l s gEd
@ & PrefiRad e o o

(a)

()

(c)

Goods valued at ¥ 3,000 were transferred
from Agra Branch to Meerut Branch under

instructions from H.O.

2T oIfhg & IRy q AR &M ¥ HIA h
BEIIAYOT A3S MET 3,000 2.

The Agra branch collected ¥ 3,500 from an
Agra customer of the H.O. .

-

ST ATET I AN B UF SYHERT T TU

™ ERT TuEe 3,500 2. &)

The Meerut branch paid ¥ 5,000 for goods
purchased by H.O. in Meerut.

ﬁm%@ﬂdwﬁ%nﬁﬂ% B A

e 5,000 % AT w1 G fhar T34

18

(d)

(e)

(f)
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¥ 6,000 remitted by the Agra branch to H.O.
on December 29% 2016 were received on
January 3™ 2017 by H.O.

ST QAT BRI 9 HEad 29 fRES,
2016 @ 6,000 T e FX R’A ™I GG
3 SHEdl, 2017 H 9r<T g4

Goods sent by H.O. to Meerut branch during
2016 were in transit on December 31, 2016
to the extent of ¥ 4,300.

2016 & AT UUM FEEE A A AS
9T H ST Tr S 31 R, 2016 %
4,300 % g Y feam AT e

The Agra branch showed a net profit of
¥ 5,400 and Meerut branch a net loss of |
Z 2,600 for the year ending December 31,
2016. Write up the two branches accounts
in the H.O. books. : |
STFTRT STRET T E @I 5,400 T o7 X AXS
TET T Y B 2,600 T, 31 RS, 2016
of & ofd Wb T | MU St H G F
Tt SrEreT ® W S | :
19 , P.T.0.
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5. A, B and C had the following Balance Sheet
on the date of dissolution : 10

THIRT Sl G 9 To, do WX o & Fr=faRaa
ﬂ@dﬂq 8 = i 1

Liabilities < Assets 3

ERCIL Teafar

Creditors 40,000 Fixed Assets 40,000

SEEIRE Tyfrar

Bank Loan Un_uﬁou.m 24,000

(&5 =) e |

(secured on 15,000 Stock 20,000

stock) Elh

(= 9x gferm) Cash 1,000
e

Loan from A Profit & Loss 30,000

T H FHST Account

Capital T X B

N.onocam“ G

ISl e

A 20,000

T

20

Y)

)
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B 20,000
q

C 10,000
-k ‘

50,000 -

1,15,000 1,15,000

Stock realised ¥ 10,000 and Fixed assets and

debtors realised ¥ 45,000 in all. The expenses .
of realisation amounted to ¥ 2,000.

wiep | u<d gQ 10,000 % 3 R qeaRmEr =1

wﬂﬂ&@ﬂﬂ@uﬂﬂ»m,ooo_ﬁmﬁ%ﬁmw

2000 % |

A cannot bring any further cash. B had

private assets of ¥ 8,000 and his private liabili-

ties amounted to ¥ 6,000. C was able to pay
only ¥ 4,200. The partners shared profits and
losses in the ratio of 4:3:3 for A, B and C
respectively. You are required to close the
books of the firm by preparing the necessary
ledger accounts. ]

To WA AREl A1 H IHA
mvoooa%w@dﬂw_&,&f%%%g
e 6,000 % &t & ae 4,200 T 3 7 e
o7 | TSI B S et o ot 4:3:3 ATl
Frar T8 @R S |
21

Tear 31 dlo & 9™

PO,
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OR
SECT -

X, Y and Z were in partnership sharing profits
and losses in the ratio of 5:3:2. On the date of

dissolution their Balance sheet was as follows :

TR, a5 SR SIS 39 Yk dEerd § & 5 S5

mﬂm@adgdmwmwﬁ_aﬁﬁgﬂ%mw
®H H oAged 9 oo

Liabilities g Assets 4
ERE I grafrar

Creditors 4,00,000 Fixed Assets : 5,00,000
ST - Rerx et

Reserve Fund 90,000 Debtors ‘ 2,40,000
e ws e

Loan from X 50,000 Stock 2,00,000
R A L

Capital a/c : Cash 1,00,000
ISt @ GET

A 2,00,000

3T

22
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B 2,00,000
q
@ 1,00,000 5,00,000
q
10,40,000 Ho.ho,.ooo
The assets realised as follows :
et & Frfaiaa aget g8
First realisation: ¥ 3,85,000
e
Second realisation ¥ 1,45,000
foiis duslEl
Third Realisation T 3,00,000
g g
The realisation expenses were estimated to be

Z 32,000 but actual expenditure were ¥ 30,000.
At the time of dissolution there was a oosﬁdmobﬁ
liability of ¥ 30,000 against the firm which was
“citled at T 25 000 at the time of second
realisation. Distribute the cash as and when
realised in the safest manner. 10

23 Hu.H.O.
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. TEH P =@ oA 32,000 % H GEGAN 4T g
aREfa® 30,000 ¥ 1 wH THREH AgAr
30,000 =t < R& g4 ageh & T 25,000
wmﬁmwnaﬁaﬁm@weﬂa@ér@
gﬁf\aﬁzﬁﬁﬁmaﬁ%ﬁwﬁﬁw
,asrﬁawrs‘ﬂ \

24 | 8400




